



Name: _____

Date: _____ Score: _____

$$(4 + \frac{1}{3})^2 + \frac{1}{2} - \frac{1}{5} - 4^2 =$$

$$(4 + \frac{1}{2})^2 + \frac{1}{4} + 3^2 \times \frac{1}{3} =$$

$$(\frac{3}{4} - \frac{1}{4})^2 - \frac{1}{2}(\frac{3}{2} - (\frac{1}{6})^2) =$$

$$(\frac{1}{2} + (\frac{1}{3})^2) \times \frac{1}{3} + (\frac{3}{5} + \frac{3}{2})^2 =$$

$$((\frac{1}{2})^2 - \frac{3}{5}) \times \frac{2}{3} + (\frac{1}{2} - \frac{1}{6})^2 =$$

$$(\frac{1}{5} - (\frac{3}{2})^2) \times \frac{1}{2} - (\frac{1}{4} + \frac{2}{3})^2 =$$

$$(\frac{1}{5} + (\frac{1}{6})^2) \times \frac{1}{2} + (\frac{1}{2} - \frac{1}{6})^2 =$$

$$(4 - \frac{3}{5})^2 - \frac{1}{2} + 5^2 \times \frac{1}{6} =$$

$$(3 - \frac{3}{5})^2 + \frac{1}{2} \times 5^2 - \frac{2}{5} =$$

$$(\frac{2}{5} + \frac{1}{2})^2 + \frac{1}{2}(\frac{1}{2} + \frac{1}{4}) =$$



Name: _____

Date: _____ Score: _____

$$(4 + \frac{1}{3})^2 + \frac{1}{2} - \frac{1}{5} - 4^2 = \frac{277}{90} = 3\frac{7}{90}$$

$$(4 + \frac{1}{2})^2 + \frac{1}{4} + 3^2 \times \frac{1}{3} = \frac{47}{2} = 23\frac{1}{2}$$

$$(\frac{3}{4} - \frac{1}{4})^2 - \frac{1}{2}(\frac{3}{2} - (\frac{1}{6})^2) = (-\frac{35}{72})$$

$$(\frac{1}{2} + (\frac{1}{3})^2) \times \frac{1}{3} + (\frac{3}{5} + \frac{3}{2})^2 = \frac{12457}{2700} = 4\frac{1657}{2700}$$

$$((\frac{1}{2})^2 - \frac{3}{5}) \times \frac{2}{3} + (\frac{1}{2} - \frac{1}{6})^2 = (-\frac{11}{90})$$

$$(\frac{1}{5} - (\frac{3}{2})^2) \times \frac{1}{2} - (\frac{1}{4} + \frac{2}{3})^2 = (-\frac{1343}{720}) = (-1\frac{623}{720})$$

$$(\frac{1}{5} + (\frac{1}{6})^2) \times \frac{1}{2} + (\frac{1}{2} - \frac{1}{6})^2 = \frac{9}{40}$$

$$(4 - \frac{3}{5})^2 - \frac{1}{2} + 5^2 \times \frac{1}{6} = \frac{1142}{75} = 15\frac{17}{75}$$

$$(3 - \frac{3}{5})^2 + \frac{1}{2} \times 5^2 - \frac{2}{5} = \frac{893}{50} = 17\frac{43}{50}$$

$$(\frac{2}{5} + \frac{1}{2})^2 + \frac{1}{2}(\frac{1}{2} + \frac{1}{4}) = \frac{237}{200} = 1\frac{37}{200}$$